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AREAS RELATED TO CIRCLES

Example

1. The length of the diameters of some circles

are given below.Find the circumferences of

each of them.(i)14 cm

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_hKBKGi4XSZXG


Watch Video Solution

2. The length of the diameters of some circles

are given below.Find the circumferences of

each of them.(ii)42 cm

Watch Video Solution

3. The length of the diameters of some circles

are given below.Find the circumferences of

each of them.(iii)11 dm

https://dl.doubtnut.com/l/_hKBKGi4XSZXG
https://dl.doubtnut.com/l/_7PCpzcXehrVH
https://dl.doubtnut.com/l/_pWSIBDrf2Jnx


Watch Video Solution

4. The length of the diameters of some circles

are given below.Find the circumferences of

each of them.(iv)20 m

Watch Video Solution

5. The length of the diameters of some circles

are given below.Find the circumferences of

each of them.(v)18 m

Watch Video Solution

https://dl.doubtnut.com/l/_pWSIBDrf2Jnx
https://dl.doubtnut.com/l/_kBvztslRpCJ3
https://dl.doubtnut.com/l/_Elx1SJPmhcbu


6. The length of the diameters of some circles

are given below.Find the circumferences of

each of them.(vi)25 m

Watch Video Solution

7. The length of the diameters of some circles

are given below.Find the circumferences of

each of them.(vii)45 cm

Watch Video Solution

https://dl.doubtnut.com/l/_Elx1SJPmhcbu
https://dl.doubtnut.com/l/_myRWN6PuUxMJ
https://dl.doubtnut.com/l/_8ZgTd3e4kPsW


8. The length of the diameters of some circles

are given below.Find the circumferences of

each of them.(viii)35 cm

Watch Video Solution

9. Find the circumferences of the circles whose

radii are given below:(i)2.5 cm

Watch Video Solution

https://dl.doubtnut.com/l/_8ZgTd3e4kPsW
https://dl.doubtnut.com/l/_f9BrS1FmWk6N
https://dl.doubtnut.com/l/_9Q7dtBHQ4OzK
https://dl.doubtnut.com/l/_hnqfxSrh4yks


10. Find the circumferences of the circles

whose radii are given below:(ii)1.5 cm

Watch Video Solution

11. Find the circumferences of the circles

whose radii are given below:(iii)0.5 m

Watch Video Solution

12. Find the circumferences of the circles

whose radii are given below:(iv)3.7 dm

https://dl.doubtnut.com/l/_hnqfxSrh4yks
https://dl.doubtnut.com/l/_0c3lTFGmHJ6B
https://dl.doubtnut.com/l/_85JBGrzOuGM0


Watch Video Solution

13. Find the diameters of the circles whose

circumferences are given below:(i)16 m

Watch Video Solution

14. Find the diameters of the circles whose

circumferences are given below:(ii) 68 m

Watch Video Solution

https://dl.doubtnut.com/l/_85JBGrzOuGM0
https://dl.doubtnut.com/l/_apdj605fhNMw
https://dl.doubtnut.com/l/_041CjlOvoRfi
https://dl.doubtnut.com/l/_0F3Z5apyM1Yv


15. Find the diameters of the circles whose

circumferences are given below:(iii)110 m

Watch Video Solution

16. Find the diameters of the circles whose

circumferences are given below:(iv)88 cm

Watch Video Solution

https://dl.doubtnut.com/l/_0F3Z5apyM1Yv
https://dl.doubtnut.com/l/_Q82eyyS2RLXR


17. Find the radii of the circles whose

circumferences are given below:(i)12.56 cm

Watch Video Solution

18. Find the radii of the circles whose

circumferences are given below:(ii)6.28 cm

Watch Video Solution

https://dl.doubtnut.com/l/_nAssGG1gQe3a
https://dl.doubtnut.com/l/_DTWljshMiqHn


19. Find the radii of the circles whose

circumferences are given below:(iii)2200 cm

Watch Video Solution

20. Find the radii of the circles whose

circumferences are given below:(iv)308 m

Watch Video Solution

https://dl.doubtnut.com/l/_zd89MOZ8GkX4
https://dl.doubtnut.com/l/_NUvUOASvjqni


21. Find the areas of the circles whose radii are

given below:(i)14 m

Watch Video Solution

22. Find the areas of the circles whose radii are

given below:(ii) 9 m

Watch Video Solution

https://dl.doubtnut.com/l/_JuVPJ89jTrKj
https://dl.doubtnut.com/l/_iQzk09cXpouS


23. Find the areas of the circles whose radii are

given below:(iii) 49 cm

Watch Video Solution

24. Find the areas of the circles whose radii are

given below:(iv)56 m

Watch Video Solution

https://dl.doubtnut.com/l/_gw6ZCLXtqJ0t
https://dl.doubtnut.com/l/_zBaaDpySAn9m


25. Find the areas of the circles whose radii are

given below:(v)21 cm

Watch Video Solution

26. Find the areas of the circles whose radii are

given below:(vi)217 cm

Watch Video Solution

https://dl.doubtnut.com/l/_kZoKsLinj43v
https://dl.doubtnut.com/l/_1E3clNMiN6Va


27. Find the areas of the circles whose

diameters are given below:(i)20 cm

Watch Video Solution

28. Find the areas of the circles whose

diameters are given below:(ii)9.8 cm

Watch Video Solution

https://dl.doubtnut.com/l/_5nvQowjpVqTN
https://dl.doubtnut.com/l/_DGnJ66iKYf4y


29. Find the areas of the circles whose

diameters are given below:(iii)200 cm

Watch Video Solution

30. Find the areas of the circles whose

diameters are given below:(iv)2.4 cm

Watch Video Solution

https://dl.doubtnut.com/l/_hxox2Ku2Lx6S
https://dl.doubtnut.com/l/_Lp1od5aO9St5


31. Find the radii of the circles whose areas are

given below:(i)

Watch Video Solution

m288

7

32. Find the radii of the circles whose areas are

given below:(ii)

Watch Video Solution

154cm2

https://dl.doubtnut.com/l/_3kWJ61kNAAN1
https://dl.doubtnut.com/l/_5DqC4MunGfnv


33. Find the radii of the circles whose areas are

given below:(iii)

Watch Video Solution

462m2

34. Find the radii of the circles whose areas

are given below:(iv)

Watch Video Solution

154cm2

https://dl.doubtnut.com/l/_yKDXZgra8rWJ
https://dl.doubtnut.com/l/_wGtTA7Ss1jZN


35. Find the radii of the circles whose areas are

given below:(v)

Watch Video Solution

1386cm2

36. Find the radii of the circles whose areas are

given below:(vi)

Watch Video Solution

cm22200

7

https://dl.doubtnut.com/l/_zomUrs7yXODe
https://dl.doubtnut.com/l/_5Zq60EhdHb9f


37. Find the radii of the circles whose areas are

given below:(vii)

Watch Video Solution

cm213750

7

38. Find the radii of the circles whose areas are

given below:(viii)

Watch Video Solution

5544cm2

https://dl.doubtnut.com/l/_c0FIzluNw7we
https://dl.doubtnut.com/l/_kJWAicQxHBGo


39. If the circumference of a circle is

880cm.find its area.

Watch Video Solution

40. The circumference of a circle is equal to

the perimeter of a square of side 11 cm.Find

the area of the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_1ujrP5iBLVTi
https://dl.doubtnut.com/l/_AAxtPYdP3mb1


41. Find the area of the greatest possible circle

that can be cut out from a tin sheet of size

.

Watch Video Solution

30cm × 40cm

42. Which has a greater area,a suqare of

perimeter 88 cm.or a circle with circumference

88 cm?

Watch Video Solution

https://dl.doubtnut.com/l/_TJJR0MwsgQ3g
https://dl.doubtnut.com/l/_wUpBPDglvBEv
https://dl.doubtnut.com/l/_K3kGBYbaDhKK


43. The ratio of the areas of two circles is

25:36.Find the ratio of their circumferences.

Watch Video Solution

44. If the radius of a circle is doubled,by how

many times will its area be increased?.

Watch Video Solution

https://dl.doubtnut.com/l/_K3kGBYbaDhKK
https://dl.doubtnut.com/l/_17O9sYdYp3pj


45. The wheels of a car move 5 times in a

second.If the diameter of a wheel is 84 cm.Find

the speed of the car in km/hr.

Watch Video Solution

46. The area of the region between two

concetric circles is .If the

circumference of the inner circle is 88 cm.,find

the radius of the outer circle.

Watch Video Solution

346.5cm2

https://dl.doubtnut.com/l/_GwkcoMGVdxrY
https://dl.doubtnut.com/l/_Leb7MSFH29vE


47. Find the area of the shaded region shown

in Fig.11,if the radius of each of the sectors is 7

cm. 
(π = )
22

7

https://dl.doubtnut.com/l/_Leb7MSFH29vE
https://dl.doubtnut.com/l/_8aVA33vNCVWE


Watch Video Solution

48. In Fig 12,PS is a diameter of a circle whose

radius is 6 cm.Two points Q and R are taken on

PS such that PQ=QR=RS.Two semicircles are

https://dl.doubtnut.com/l/_8aVA33vNCVWE
https://dl.doubtnut.com/l/_nqw0ZUvlpX8h


drawn with PQ and QS as their respective

diameters as shown in the figure.Find the

perimeter and the area of the shaded region

shown in figure.(pi=3.14)`

Watch Video Solution

https://dl.doubtnut.com/l/_nqw0ZUvlpX8h
https://dl.doubtnut.com/l/_qNhMHj1qYZN0


49. The diameter of a wheel is 28 cm.How many

times will the wheel move to cover a distance

of 352. m?

Watch Video Solution

(π = )
22

7

50. There is a path 14 m wide all round a

circular garden of diameter 120m.Find the area

of the path.

Watch Video Solution

https://dl.doubtnut.com/l/_qNhMHj1qYZN0
https://dl.doubtnut.com/l/_ggdW8v4cYs4r
https://dl.doubtnut.com/l/_1LrkKsPBBDlm


51. The area of a circle is .Find the

length of one side of the greatest possible

square that can be drawn within the circle.

Watch Video Solution

154cm2

52. In Fig 13,ABCD is a square of side 5.6 cm.As

shown in the figure,four circles are drawn with

centres A,B,C and D respectively.Find the area

https://dl.doubtnut.com/l/_1LrkKsPBBDlm
https://dl.doubtnut.com/l/_FvIrYxHf1wfp


of the shaded region in the diagram.`(pi=22/7)


Watch Video Solution

53. The outer radius and the inner radius of a

circular ring are respectively 25 cm and 24

https://dl.doubtnut.com/l/_FvIrYxHf1wfp
https://dl.doubtnut.com/l/_v6ARjR8D2uyy


cm.Find the area of the region which falls

under the ring.

Watch Video Solution

54. The outer radius of a circular ring is 21

cm.and its area is .Find its inner radius.

Watch Video Solution

26cm2

55. The area of the region between two

concetric circles is  If the radius of the770cm2

https://dl.doubtnut.com/l/_v6ARjR8D2uyy
https://dl.doubtnut.com/l/_v8xkcDu8bSoc
https://dl.doubtnut.com/l/_5R9GFH9JiNho


greater circle is 21 cm.Find the radius of the

smaller circle.

Watch Video Solution

56. The area of a circular garden is 

.Find the perimeter of the garden.

Watch Video Solution

1386m2

57. A 7 m wide path runs round a circular

garden whose circumference is 352m.Find the

https://dl.doubtnut.com/l/_5R9GFH9JiNho
https://dl.doubtnut.com/l/_YtrZQonzCUVT
https://dl.doubtnut.com/l/_oMK5zoUvoZ8x


area of the path.

Watch Video Solution

58. Find the area of the greatest possible circle

that can be cut out from a rectangular board

of length 30cm and breadth 21 cm.

Watch Video Solution

59. The perimeter of a circular field is 660cm.A

square-shaped portion of the field is

https://dl.doubtnut.com/l/_oMK5zoUvoZ8x
https://dl.doubtnut.com/l/_rDQ6gihc1dfe
https://dl.doubtnut.com/l/_e6XiKJS5fv8O


demarcated in such a way that its four vertices

lie on the outside boundary of the field.Find

the area of the square-shaped region of the

field.

Watch Video Solution

60. Find the area of one-fourth of a circle with

circumference 22 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_e6XiKJS5fv8O
https://dl.doubtnut.com/l/_cyrDgVB6hgzG


61. An area of length .subtends an angle 

 at the center of a circle.Find the area of

the sector produced by the arc.

Watch Video Solution

4πcm

40∘

62. The angle at the center of a sector of a

circle is and the radius of the circle is 21

cm.Find the perimeter and the area of the

sector of the circle.

Watch Video Solution

60∘

https://dl.doubtnut.com/l/_s7s1oFFplqqT
https://dl.doubtnut.com/l/_TeSMr81okN3J


63. The angle at the center of a sector of a

circle of radius 42 cm is .Find the length

of the arc producing the sector and also the

area of the sector of the circle.

Watch Video Solution

120∘

64. A sector from teo concentric circle is

shown in Fig.14.If the radii of the circles are

respectively 3.5 cm and 7 cm,find the area of

https://dl.doubtnut.com/l/_TeSMr81okN3J
https://dl.doubtnut.com/l/_xZV3A0yDuUJd
https://dl.doubtnut.com/l/_K18iyUJCnkyw


the shaded region in the figure.

Watch Video Solution

65. The radius of a circle is 14 cm.If the area of

a sector of the circle is ,then find the

angle made by the sector at its centre.

Watch Video Solution

102.7cm2

https://dl.doubtnut.com/l/_K18iyUJCnkyw
https://dl.doubtnut.com/l/_3xdSoqSyLR1d


66. The perimeter of a sector of a circle of

radius 5.6 cm is 27.2 cm.Find the area of the

sector.

Watch Video Solution

67. While oscillating a distance of 88 cm,a

pendulum subtends an angle of at the

centre.Find the length of the pendulum.

Watch Video Solution

60∘

https://dl.doubtnut.com/l/_3xdSoqSyLR1d
https://dl.doubtnut.com/l/_TokduKzrQrON
https://dl.doubtnut.com/l/_Xc3n9vuqTgyl


68. The radius of a circle is 17.5 cm.Find the

area of a sector made by an arc of length 44

cm.

Watch Video Solution

69. The length of a radius of a circle is 10 cm.A

chord substends an angle  at the

centre.Find the area of each of the two

segments made by the chord.

Watch Video Solution

90∘

[sin 90∘ = 1]

https://dl.doubtnut.com/l/_rhIGFiZiJYvD
https://dl.doubtnut.com/l/_LTjQpJoB5NzD


70. The radius of a circle with centre O is 15

cm.The chord AB subtends an angle of at

the centre O of the circle.Find the areas of the

two segments made by AB.[

]

Watch Video Solution

60∘

π = 3.14, sin 60∘ =
1.73

2

71. The length of a side of a square is 4 cm.A

circle is drawn through the four vertices of the

https://dl.doubtnut.com/l/_LTjQpJoB5NzD
https://dl.doubtnut.com/l/_eZlEzy2Yu9Ig
https://dl.doubtnut.com/l/_GU561qySbWZK


Exercise

square.Find the area of the portions between

the circle and the square.

Watch Video Solution

1. The radii of two circle are 19 cm and 9 cm

respectively.Find the radius of the circle which

has circumference equal to the sum of the

circumference of the two circles.

Watch Video Solution

https://dl.doubtnut.com/l/_GU561qySbWZK
https://dl.doubtnut.com/l/_Swv0xzPPfFQP


2. The radii of two circle are 19 cm and 9 cm

respectively.Find the radius of the circle having

area equal to the sum of the area of the two

circles.

Watch Video Solution

3. Fig.12.3 depicts an archerytarget marked

with its five scoring regions from the centre

outwards as Gold,Red,Blue,Black and

White.The diameter of the regions

https://dl.doubtnut.com/l/_Swv0xzPPfFQP
https://dl.doubtnut.com/l/_8DaxaOTOtJ7F
https://dl.doubtnut.com/l/_DxvNgRQYzWGk


representing Glod score is 21 cm and each of

the bands is 10.5 cm wide.Find area of each of

the five scoring regions.

Watch Video Solution

https://dl.doubtnut.com/l/_DxvNgRQYzWGk
https://dl.doubtnut.com/l/_5CKCzWcD7Wbl


4. The wheels of a car of diameter 80cm

each.How many complete revolutions does

each wheel make in 10 minutes when the car is

travelling at a speed of 66 km per hour?

Watch Video Solution

5. Tick the correct answer in the following and

justify your choice:If the perimeter and the

area of the circle are numerically equal,then

the radius of the circle is

https://dl.doubtnut.com/l/_5CKCzWcD7Wbl
https://dl.doubtnut.com/l/_8MjZxyalxcLV


A. 2 units

B.  units

C. 4 units

D. 7 units

Answer:

Watch Video Solution

π

6. Find the area of a sector of a circle with

radius 6 cm if angles of the sector is .60∘

https://dl.doubtnut.com/l/_8MjZxyalxcLV
https://dl.doubtnut.com/l/_s2BxPWa5O1q3


Watch Video Solution

7. Find the area of a quadrant of a circle whose

circumference is 22 cm.

Watch Video Solution

8. The length of the minute hand of a clock is

14 cm.Find the area swept by the minute hand

in 5 minutes.

Watch Video Solution

https://dl.doubtnut.com/l/_s2BxPWa5O1q3
https://dl.doubtnut.com/l/_z1EVdK4p6jHt
https://dl.doubtnut.com/l/_XJaDFfhAf0Ag


9. A chord of a circle of radius 10 cm subtends

a right angle at the centre.Find the area of the

corresponding:(i) minor segment.(use

)

Watch Video Solution

π = 3.14

10. A chord of a circle of radius 10 cm subtends

a right angle at the centre.Find the area of the

corresponding:(ii)major sector.(use )

Watch Video Solution

π = 3.14

https://dl.doubtnut.com/l/_KuYe56C0vGTu
https://dl.doubtnut.com/l/_tEiHNThaoscx


11. In a circle of radius 21 cm,an arc subtends

an angle of  at the centre.Find (i) the

length of the arc

Watch Video Solution

60∘

12. In a circle of radius 21 cm,an arc subtends

an angle of  at the centre.Find (ii)area of

the sector formed by the arc

Watch Video Solution

60∘

https://dl.doubtnut.com/l/_tEiHNThaoscx
https://dl.doubtnut.com/l/_xlCeBZwRGfxc
https://dl.doubtnut.com/l/_rj1WkhsAHEyZ


13. In a circle of radius 21 cm,an arc subtends

an angle of  at the centre.Find (iii)area of

the segment formed by the corresponding

chord.

Watch Video Solution

60∘

14. A chord of circle of radius 15 cm subtends

an angle of  at the centre. Find the areas

of the corresponding minor and major

60∘

https://dl.doubtnut.com/l/_wWGyKizaD8it
https://dl.doubtnut.com/l/_HYRxgcXdbvvf


segments of the circle.(use  and 

)

Watch Video Solution

π = 3.14

√3 = 1.73

15. A chord of a circle of radius 12cm subtends

an angle of at the center. Find the area of

the corresponding segment of the circle.(use

)

Watch Video Solution

120∘

π = 3.14 and √3 = 1.73

https://dl.doubtnut.com/l/_HYRxgcXdbvvf
https://dl.doubtnut.com/l/_cEh2Mvynwyae


16. A brooch is made with silver wire in the

form of a circle with diameter 35 mm.The wire

is also used in making 5 diameter which divide

the circle into 10 equal sectors as shown in

Fig.12.12 .Find:(i)the total length of the silver

https://dl.doubtnut.com/l/_g34ZPqtcBixB


wire required.

Watch Video Solution

17. A brooch is made with silver wire in the

form of a circle with diameter 35 mm.The wire

https://dl.doubtnut.com/l/_g34ZPqtcBixB
https://dl.doubtnut.com/l/_Wgu05BUyXVJP


is also used in making 5 diameters which

divide the circle into 10 equal sectors as

shown in Fig.12.12 




Find:(ii)the area of each sector of the brooch.

Watch Video Solution

https://dl.doubtnut.com/l/_Wgu05BUyXVJP
https://dl.doubtnut.com/l/_2NlJOxgdUNeW


18. An umbrella has 8 ribs which are equally

spaced (see Fig.12.13).




Assuming unbrella to be a flat circle of radius

45 cm.Find the area between the two

consecutive ribs of the umbrella.

Watch Video Solution

https://dl.doubtnut.com/l/_2NlJOxgdUNeW


19. A car has two wipes which do not

overlap.Each wiper has a blade of length 25 cm

seeping through an angle of .Find the

total area cleaned at each sweep of the blades.

Watch Video Solution

115∘

20. To warn ships for underwater rocks,a

lighthouse spreads a red coloures light over a

sector of angle to a distance of 16.580∘

https://dl.doubtnut.com/l/_2NlJOxgdUNeW
https://dl.doubtnut.com/l/_dUVFjd2gO6WL
https://dl.doubtnut.com/l/_LXWHMTIBggOX


km.Find the area of the sea over which the

ship are warned.(Use )

Watch Video Solution

π = 3.14

21. A round table cover has six equal designs

as shown in Fig.12.14.

https://dl.doubtnut.com/l/_LXWHMTIBggOX
https://dl.doubtnut.com/l/_b6KWySH3mD4h


If the

radius of the cover is 28 cm,find the cost of

making the designs at the rate of

(use `sqrt3=1.7)

Watch Video Solution

Rs.0.35percm2

https://dl.doubtnut.com/l/_b6KWySH3mD4h
https://dl.doubtnut.com/l/_tlSyIA74Vm1v


22. Tick the correct answer in the following

:Area of a sector of angle p(in degrees) of a

circle with radius R is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

× 2πR
p

180

× πR2p

180

× 2πR
p

360

× 2πR2p

720

https://dl.doubtnut.com/l/_tlSyIA74Vm1v


23. Find the area of the shaded region in

Fig.12.19,If PQ=24cm,PR=7 cm and O is the

centre of the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_gDowHB722x30


24. Find the area of the shaded region in

Fig12.20,if radius of the two concentric circle

with centre O are 7 cm and 14 cm respectively

and .





∠AOC = 40∘

https://dl.doubtnut.com/l/_gDowHB722x30
https://dl.doubtnut.com/l/_nRh48c0yVcz3


Watch Video Solution

25. Find the area of the shaded region in

Fig.12.21,If ABCD is a square of side 14 cm and

APD and BPC are semicircles.

https://dl.doubtnut.com/l/_nRh48c0yVcz3
https://dl.doubtnut.com/l/_Qy5ytB04eije


Watch Video Solution

26. Find the area of the shaded region in

Fig.12.21,,where a circular arc of radius 6 cm

has been drawn with vertex O of an equilateral

https://dl.doubtnut.com/l/_Qy5ytB04eije
https://dl.doubtnut.com/l/_3o7uk2ZJqCyw


triangle OAB of side 12 cm as centre.

Watch Video Solution

https://dl.doubtnut.com/l/_3o7uk2ZJqCyw


27. From each cornor of a square of side 4 cm

a quadrant of a circle of radius 1 cm is cut and

also a circle of diameter 2 cm is cut as shown

in Fig.12.23.Find the area of the remaining

https://dl.doubtnut.com/l/_jfwONvs4v1uv


portion of the square.

Watch Video Solution

https://dl.doubtnut.com/l/_jfwONvs4v1uv


28. In Fig.12.25,ABCD is a square of side 14

cm.with centres A,B,C and D,four circles are

drawn such that each circle touch externally

two of the remaining three circles.Find the

https://dl.doubtnut.com/l/_UmHFnJVTmB01


area of the shaded region.

Watch Video Solution

https://dl.doubtnut.com/l/_UmHFnJVTmB01


29. In Fig12.26 depicts a racing track whose left

and right ends are semicircular.The distance

between the two inner parallel line segments

is 60 and they are each 106 m long.If the track

is 10 m wide,find:(i)the distance around the

track along its inner edge 

Watch Video Solution

https://dl.doubtnut.com/l/_iYfYCXumNXXW


30. The area of an equilateral triangle ABC is

.With each vertex of the triangle as

center,a circle is drawn with radius equal to

half the length of the side of the

triangle(seeFig.12.28).Find the area of the

shaded region.(use  and 

17320.5cm2

π = 3.14

https://dl.doubtnut.com/l/_U6GaEXKe86fh


)


Watch Video Solution

√3 = 1.73205

https://dl.doubtnut.com/l/_U6GaEXKe86fh


31. On a square handkerchief,nine circular

designs each of radius 7 cm are made (see

Fig.12.29).Find the area of the remaining

portion of the handkerchief.

Watch Video Solution

https://dl.doubtnut.com/l/_ltgWDE750lI6


Watch Video Solution

32. If Fig.12.30,OACB is a quadrant of a circle

with centre O and radius 3.5 cm.If OD=2 cm.find

https://dl.doubtnut.com/l/_ltgWDE750lI6
https://dl.doubtnut.com/l/_WwXm9pVvak10


the area of the (i) quadrant OACB,

Watch Video Solution

https://dl.doubtnut.com/l/_WwXm9pVvak10
https://dl.doubtnut.com/l/_Oey6fiiRqYjD


33. If Fig.12.30,OACB is a quadrant of a circle

with centre O and radius 3.5 cm.If OD=2 cm.find

the area of the(ii)shaded region

https://dl.doubtnut.com/l/_Oey6fiiRqYjD


Watch Video Solution

34. In Fig.12.31,a square OABC is inscribed in a

quadrant OPBQ.If OA=20cm,find the area of the

https://dl.doubtnut.com/l/_Oey6fiiRqYjD
https://dl.doubtnut.com/l/_5YKf01y3EUmV


shaded region.(use )


Watch Video Solution

π = 3.14

https://dl.doubtnut.com/l/_5YKf01y3EUmV
https://dl.doubtnut.com/l/_G9vOuO3OE2Ir


35. AB and CD are respectively arcs of two

concentric circles of radii 21 cm and 7 cm and

centre(see Fig.12.32).If ,find the

area of the shaded region.

Watch Video Solution

∠AOB = 30∘

https://dl.doubtnut.com/l/_G9vOuO3OE2Ir


36. In Fig.12.33.ABC is a quadrant of a circle of

radius 20 cm and a semicircle is drawn with BC

as diameter. Find the area of the shaded

region.


h id l i

https://dl.doubtnut.com/l/_KP9SYnAntSAX


Watch Video Solution

37. Calculate the area of the designed region

in Fig.12.34 common between the two

quadrants of circles of radius 8 cm each.

Watch Video Solution

https://dl.doubtnut.com/l/_KP9SYnAntSAX
https://dl.doubtnut.com/l/_WLhubtyocWym


38. What is the area of the sector of a circle

whose radius r and length of the arc is l.

Watch Video Solution

39. If the diameter of a semi-circular protactor

is 14 cm then find its perimeter.

Watch Video Solution

https://dl.doubtnut.com/l/_WLhubtyocWym
https://dl.doubtnut.com/l/_FJq3gxGvl7i3
https://dl.doubtnut.com/l/_ChN2wsdhZWpD


40. What is the ratio of the areas of a circle

and an equilateral triangle whose diameter

and side are respectively equal?

Watch Video Solution

41. If the perimeter of a semi circle protactor is

66 cm then find its radius.

Watch Video Solution

https://dl.doubtnut.com/l/_CPh0fKWwszFF
https://dl.doubtnut.com/l/_0Zxqn7KliuRn


42. If a chord of a circle of radius 14 cm

subtends a right angle at the centre then

what will be the area of the sector?

Watch Video Solution

43. The circumference of a circle is 44cm then

its area will be

A. 

B. 

308cm2

154cm2

https://dl.doubtnut.com/l/_iopuPVM8EGXN
https://dl.doubtnut.com/l/_mnS8SJcQfcEg


C. 

D. None of these

Answer:

Watch Video Solution

121cm2

44. If the circumference and the area of a

circle are numerically equal the diameter of

the circle is

A. π

https://dl.doubtnut.com/l/_mnS8SJcQfcEg
https://dl.doubtnut.com/l/_Z3O1ObZ9wOHG


B. 

C. 4

D. 16

Answer:

Watch Video Solution

4π

45. The perimeter of a circular field is 242 m

then the area of the field is

A. 4658.5m2

https://dl.doubtnut.com/l/_Z3O1ObZ9wOHG
https://dl.doubtnut.com/l/_0ZHIAD0EyxjB


B. 

C. 

D. 

Answer:

Watch Video Solution

2348.5m2

35200m2

9317m2

46. The difference between the circumference

and radius of a circle is 37 cm.The area of the

circle is

https://dl.doubtnut.com/l/_0ZHIAD0EyxjB
https://dl.doubtnut.com/l/_3SU5w59R9XYf


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

184cm2

154cm2

121cm2

310cm2

47. The area of a circle is .Its

circumference is

49πcm2

https://dl.doubtnut.com/l/_3SU5w59R9XYf
https://dl.doubtnut.com/l/_430YGwxmdOs1


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

14πcm

54πcm

3.5πcm

7πcm

48. The area of two circles are in the ratio

4:9.The ratio of their circumference is

https://dl.doubtnut.com/l/_430YGwxmdOs1
https://dl.doubtnut.com/l/_W0bdnUKYsqd1


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3: 2

2: 3

8: 18

16: 81

49. The radius of a wheel is 0.25m.The number

of revolution it will make to travel a distance

11km will be__-

https://dl.doubtnut.com/l/_W0bdnUKYsqd1
https://dl.doubtnut.com/l/_xyA2UJhxbYyZ


A. 7500

B. 7000

C. 3500

D. 4000

Answer:

Watch Video Solution

50. The area of incircle of an equilateral

triangle is then the perimeter of the

triangle is

154cm2

https://dl.doubtnut.com/l/_xyA2UJhxbYyZ
https://dl.doubtnut.com/l/_UFMbDqRhZo4w


A. 72 cm

B. 72.7 cm

C. 72.5 cm

D. 72.17 cm

Answer:

Watch Video Solution

51. The area of a circle is .The area of a

square inscribed in it is

220cm2

https://dl.doubtnut.com/l/_UFMbDqRhZo4w
https://dl.doubtnut.com/l/_MKRVFdjn58f2


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

140cm2

154cm2

121cm2

70cm2

52. The area of the circle that can be inscribed

in a square of side 10 cm is

https://dl.doubtnut.com/l/_MKRVFdjn58f2
https://dl.doubtnut.com/l/_OvPAWqn5Bd8P


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

50πcm2

25πcm2

75πcm2

100πcm2

53. If diameter of a circle is increased by 40%

then its area increased by

https://dl.doubtnut.com/l/_OvPAWqn5Bd8P
https://dl.doubtnut.com/l/_iGkeSEE76NeH


A. 0.8

B. 0.96

C. 0.2

D. 0.5

Answer:

Watch Video Solution

54. On decreasing the radius of a circle by 30%

its area is decreased by

https://dl.doubtnut.com/l/_iGkeSEE76NeH
https://dl.doubtnut.com/l/_3cJwrGFLjZTG


A. 0.15

B. 0.3

C. 0.45

D. None of these

Answer:

Watch Video Solution

55. If the radius of a circle is diminished by

10% then its area is diminished by

https://dl.doubtnut.com/l/_3cJwrGFLjZTG
https://dl.doubtnut.com/l/_ZduXoE9xAK8n


A. 0.19

B. 0.29

C. 0.05

D. 0.2

Answer:

Watch Video Solution

56. The area of the largest triangle that can be

inscribed in a semi-circle of radius r is

https://dl.doubtnut.com/l/_ZduXoE9xAK8n
https://dl.doubtnut.com/l/_W5dCymT0hhRa


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

πr

r2

πr2

r
√3

2

57. If the area of a square and a circle are same

then the ratio of their perimeters in terms of

is__π

https://dl.doubtnut.com/l/_W5dCymT0hhRa
https://dl.doubtnut.com/l/_uxnut0WNxGN5


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

π : √2

√2: π

1: π

π : 1

58. If the circumference of a circle increases

from  then its area is4π → 8π

https://dl.doubtnut.com/l/_uxnut0WNxGN5
https://dl.doubtnut.com/l/_iA6WqzWRuYIH


A. halved

B. doubled

C. tripled

D. quadrupled

Answer:

Watch Video Solution

59. If the perimeter of a circle is equal that of a

square then the ratio of their area is

https://dl.doubtnut.com/l/_iA6WqzWRuYIH
https://dl.doubtnut.com/l/_jLdhoI3xgpDG


A. 0.46805555555556

B. 0.59097222222222

C. 0.29930555555556

D. 0.46319444444444

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_jLdhoI3xgpDG


60. The perimeter of the sector OAB in figure is

A. 64/5cm

B. 64/3cm

C. 61/3cm

D. 61/5cm

https://dl.doubtnut.com/l/_EGAIIGi45rsR


Answer:

Watch Video Solution

61. In figure the area of the segment ABC is 

https://dl.doubtnut.com/l/_EGAIIGi45rsR
https://dl.doubtnut.com/l/_f3mMdFyheN0Z


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

( + )r2π

3

√3

2

( − )r2π

3

√3

2

( + )r2ν3π

2

1

3

( − )r2ν3π

2

1

3

https://dl.doubtnut.com/l/_f3mMdFyheN0Z


62. In figure the area of the segment PRQ is 

A. 

B. 

C. 

D. 

(π − 1)
r2

4

(π − 2)
r2

4

(π + 1)
r2

4

(π + 2)
r2

4

https://dl.doubtnut.com/l/_ExoiijgW2XXN


Answer:

Watch Video Solution

63. In figure the area of the shaded region is 

A. 

B. 

9πcm2

3πcm2

https://dl.doubtnut.com/l/_ExoiijgW2XXN
https://dl.doubtnut.com/l/_fV6EqyjbDdTL


C. 

D. 

Answer:

Watch Video Solution

12πcm2

1.5πcm2

64. If the area of a sector of a circle is 5/18 of

the area of the circle then the sector angle is

A. 

B. 

90∘

100∘

https://dl.doubtnut.com/l/_fV6EqyjbDdTL
https://dl.doubtnut.com/l/_8FWl48qRz3Bm


C. 

D. 

Answer:

Watch Video Solution

120∘

180∘

65. If the area of a circle is equal to the sum of

the areas of two circles of diameters 10cm and

24 cm then diameter of the larger circle(in cm)

is

https://dl.doubtnut.com/l/_8FWl48qRz3Bm
https://dl.doubtnut.com/l/_U0YHzxV4eb7b


A. 18

B. 26

C. 17

D. 14

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_U0YHzxV4eb7b

